10.2 #21: Find the point of intersection
X+y+z =4

STEP 1:
x+3y+32=10  giminate z by adding the
2x+y—-z =3 1st and 3 equations

STEP 2:

Eliminate z again using a

different pair of equations

Sea next (1st and 2nd or 2nd and 37)
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more \%\? Solve system of two

equations that you just
created and go from there.
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10.2 #21: Find the point of intersection
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Eliminate z again using a
X+ Lj =9 different pair of equations
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10.2 #21: Find the point of intersection
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Solve system of two by eliminate U

_equatlons ’:jhat you s <olie For % Hhon qu ]
Just create Y + 7 Using back substrudion



10.2 #21: Find the point of intersection

X+y+z =4 STEP 3:
X+3y+32=10 Solve system of two
2x+y—-z =3 equations that you just

created and go from there.
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